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Time: 3 Hours
[nstructions :

(i)

(if)

Choose the correct or mnst App

1;

Each question carries one mark,
56 B8 o8 Srdy, Sods,

swer from the given options 1o the ""‘;i ;;.'--
voint pen, the corresponding diﬁt 2, 30r 4
mber concerned in the OMR #

quesuﬁns and darken, with blue gﬁ’ _
in the circle pertmnmg tn.ﬂm;qu 438
separately supplied to you.

GRS alys 8 BHD aHebs 8
©o8 1,2, 3 8§ 4 6m adys O)
~oR0bs HBEL ar/es erd Fonol

fogos SEnrdsnss JEPED a9 Sraod
Srod HESnEt (B Sopgls b fie
350y SHATNOD VOBITI.

[

Choose the word Whlt:h is the nearest ig

Theyoung girl is wearing a drab pink d
(1) Colourful (2) Dull

.'-..'I 10 to the word underlined,

(3) Vibrant (4) Brigh
Chﬂﬂ‘»ﬂ'lhhwnrd“’hi(:histhﬂ ' lﬂH’. I |1 j tﬂglﬁmundm
The interviewis candid and interestin,

(1) Frank (2) Real:stm (3)_ Emotional  (4) Disgusting

Chﬂﬂscthewnﬂh?mdeﬂﬁ Worc

Religion teaches us not to run after the transicnt pleasures of the world.
(1) Joyful . h;t (2) Sinful

(3) Unnatural S (4) Permanent

Choose the antonym of the underlined word.
The company supplied spurious drugs to the hospital.

(1) Fake _ (2) Contraband

(3) Genuine (4) Pu:.fcrful

Choose the appropriate preposition.

Many people died _ ~ flu soon. the storm.

(1) with,before  (2) by after (3) from,by (4) of, after
Choose the appropriate preposition.

We have been planting trees 4 L_IW ri‘-{er Sidtys - 4 a decade.
(1) in,since (2) on, from (3) by, for (4) at, of

3A
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10.

LA

12.

13.

14,

Choose the appropriate answer.
__carbondioxide extinguishers

(1) an,the (2) a,the

Choose the appropriate answer. |

. university lleamthow b€ goodcitizen.

(1) the,a (2) aa {3) &thel (4) the, the

Choose the correct form of the report ,,.‘
The captain said to the soldiers, “Don’t fit Ig
(1) The captain told the soldiers not to fi _-_'3= '_ il he gave the signal

(2) The captain ordered the soldiers ni ntil he gave them the signal
(3) The captain asked the soldiers noti un 5_ _.:'- ﬁumﬂleslgnﬂl
(4) Thecaptain Sal:ﬂ to fire only aﬁer

Choose the correct fﬂrm of the repo e
“Haven’t we met before?”, The man said® ._: h gir]_,

(1) The manasked the girl if they had metbefore.

(2) Theman questioned the girl if th ey 1av "'_ ’tmﬂt héfﬂrc

(3) Theman asked the girl whether th _-i_;'u ;fm-hefu:e-.

(4) The girl asked the man if ﬂl::yh 1 before.

Choose the correct form of the verb.
Murali his work yet.
(1) hasn’tcompleted

(3) hadn’tcompleted

() hascompleted
- (4) hadcompleted

Choose the correct fbnn ofthe verb.

The student aprize fqiﬁiarmting a story in this year’s contest.

(1) Awarding (2) Hasawarded |
(3) Awards (4) Wasawarded p

Choose the meaning of the underlined phrase.
Enginecring graduates are dime a dozen today. [ wantto employ an arts graduate.

(1) Uncommon and worthy (2) Worthy but common
(3) Common and worthless (4) Veryrare

Choose the meaning of the underlined phrase.

Ravi just plays the devil’s advocate. Don’t take his opinion seriously.
(1) Debates for the sake of argument

(2) Debates for the sake of peaceful settlement

(3) Isanefficientadvocate

(4) Isanadventurous person

4-A
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16.

17.

24.

Choose the correct question tag fo ) he
The scuba divers need air ¢ tag rs.
() dothey () don'rihey
Choose the correct question tagfnr 1e
He has been to the Andamans, L
(1) hashe (2) washe
What does the sentence imply?

I am afraid, you will have tuwmt for some:
(1) expressing nability 3
(3) expressing shock

What does the sentence imply?
Drive slowly. U-tum ahead.

(1) order (2) request (3) opinion ©  (4)

Choose the correct passive form of the sentence.

We must take care of all the living species on the earth.

(1) Allthe living species on the Earth are taken care of by us.

(2)  All the living species on the Earth must be taken care of by us.
(3) Alltheliving species on the Earth had been taken care of by us.
(4) All the living species on the Earth will be taken care of by us.

Choose the correct passive form of the senter
Rain disrupted the last day’s play between India and Australia.

(1) Thelastday’s play of India and ﬁlﬁia was disrupted by rain

(2) Indiaand Australia’s play of the lastday was disrupted by rain

(3) The lastday’s play between India and Australia was disrupted by rain
(4) The last day’s play between India and Australia are disrupted by rain

Choose the correct one-word substitute. :
A process involving too much official formality.
(1) Nepotism (2) Diplomacy '; (3) Red-tapism (4) Bureaucracy

Choose the correct one-word substitute. =
One who despises persons of lower soeial position.

(1) Prim (2) Snob = (3) Prig (4) Arstocrat
Choose the appropriate phrase.

Susan generally atan Gddﬁgr ur.

(1) turnsover (2) tumsoff = (3) turnon (4) turmnsup
Choose the appropriate phrase. ' g.t

Mr. Kumar always _his word.

. (2) goes in for

s back on
(1), Boes (4) givesawayto

(3) getsoverwith
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25, Choose the correct order of the given ju
and sea turtles / dived mtu mﬂﬁeaf the 5§
l

(L) 1,3,4,2 {2) 42,13 3)
2# Choose the correct arder of the given jumbled :
tumned /all his well wishers /ta the pleadings of /
1 2 3 8 5
1) 451,2,3. @) 4155,3.2

Read the following passage and answer the queiions from 27-3¢ ;
Besides this genetic reason, there is also a secol dan masﬁnwmfﬂcwﬂgjinﬁns mayhmrﬁ ome
to be smarter than Westerners, Mndmn Europe: ~'r and American :hlldren,spend much ) |
time being passively entertained by television, radio and movies. In the average A '
household the TV set is on for seven hours per daya In contrast, traditional New Guinca G l¢
have virtually no such opportunities for passive  entertainment and instead spend almc i
their waking hours actively doing something, sucy as talking or playing with other chil ‘l oI Ok

adults. Almost all studies of child dnvclnpmcntamﬁhasuﬂ the role of chﬂdhncd ﬂmnufh!l
themcvermblammtﬂ-smnlmg S8 %

activity in promoting mental development, anc

with reduced childhood stimulation. __

27. Who among the children are more intell
(1) Americans
(3) New Guineans

(1) Infrontof T.V.
(3) Fighting animals in the wild |
20, Which one of the following *iIﬂtEmEﬂLE:ﬁE nnt aupport&d by the: studles of childhmi

development?
(1) Active childhood leads to mental

(2) Passive childhood is detrimental to mes
(3) Child who grows in technologically: ranced societies 1s not intelligent
(4) Child’s mental growth is entirely deﬁ}gdém on genetic factors

30. Which factor is most effective in accelerating mental development of a child, according to

the writer?
(1) Challenging social context f (2) Technological social environment
(3) Stimulating entertainment (4) Genetic reason

6-A
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U8 DerowdBR g0 900 ( wHie Sk

WM uﬂ!‘ﬂﬁ--'ﬁ-m
(1) 10% (2) Il%%

ments of Rs.12000, Rs.24000 and Rs.9000
capital and after x more months *C’ withdrew
¢ the profit in the ratio of 2:12:3; then the

34 A, B and C started a business with inv
respectively. Afterxmonths A withdrew his
his capital. If, at the end of one year they sh
value of x is
A B, C oo Ssm & 12000, 8. 24000 5005 d. 9000 Depwds' uf ;gdo
oo, x Jve S ATEFE0 H08 &5 ionld BHEH Sk, ©
DTS 56 xJook CargFrdo So08 85 BeRusd DL SF T, SoSE0oES0S
S el 2:12:3 JNGST J0thERE, @Sy X Dend

(1) 4 (2) 3 (3) 2 (4) 1

35. Therateof simple interest per annum to be taken, so that an amount becomes four times to
Its principal in 21 vears is
21 So3&8Sred® vy wE Indo, vdw B0 ey 0Ly SR8, BB Sens
 TOSS)0E eSS B

\ 4 3, 7. ,
(1) M=% (2) 14-% (3) 14z% () 142
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. *, 'ﬁiﬁﬂhﬁﬁ ¢ a
L -'.,,.____@1515 4000, thmﬂ‘ﬁ“ :

L8 5wy ©5 sosgssy 25%

e -"m‘ﬂ 2017 D563 © 58

3?5' ﬁﬁhﬂlﬂﬂﬂtm:ls 38 coins each one of wh ic
If *ﬁﬁtﬁtalvalue of these coins is Rs. 157 f-

hﬁ’ﬂﬁﬁ‘a 38 RSt 58 w8 Todde rasses B 6> Srdrabhe
& TBo 3wgo Jeod & 157 BOE 1,,“,___&.,_- it e Sop
S B Grraon @O Bows
(1) 8 (2) 12

38.  There are 50 questions in a test paper. -*l'"

mngsnswer 7 of amark is deducted. i‘ taine

e :.' SWerk currecllyls
a8 Basgsns 50 HHe m aﬂﬁuﬁ 8 SErErssnsts 2 Sryes a5gds
200cin BHE &3y Sl NSO S ’E ﬁ’éﬁ&ﬁgﬂﬁﬂd}&.aﬂﬁ 535“&1@{11:5: 23277830 _
e 73 Srd e F>oB8, sdk ﬁﬂ@r\‘)ﬁw;}'m o"Rs PHe Bowg X

=

(1) 38 (2) 28 {312 (4) 10 ,
39. If the sum of the first n terms of an arithmetic progression is 7n°+2n, then the sum of i ltq

third and fifth terms is

a8 SoEEAS" Buds n e Indsn TnH2n wond, © FESC™ SordS SoBcswn mcﬂé

QT'O J0é0 k

(I 75 (Z2), 120 (3) 102 (4) 12

2
40. 7 of 36+([7+{8(3-5)+5(3+2)~1})-7] =

2
360° 7 080 + [7+(8(3-5)+53+2)~1}~7] =
(1) 30 (2) 31 (3) 32 (4) 33

8-A
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41.. 1fa single card is chosen at random f

52 BEswg,eo §0nS "*a #s:oﬁ a gk
8o abyin 508, vk ﬁt: Sowdgs

1) = (2) -55

42. Abag contains 4 red and some black balls, 2 3
probability of it being a black ball is. Wice that of a red ball, then the ltliﬂ:l lack
balls in that bag is % 'S

&8 S00¢" 4 JPAmode, 'Y 5unnﬁ’ﬁm §0d. oSrEydEorr Sod ﬁaaﬁ oF | r’hf

S5, ©b Sowod sdaly Sogrdgs, udé.;s B0 S 85 Bil0 m ﬂ
fde 5uamnﬁ:u Sopg

(1) 4 (2) 8§ '(3) 12 4) 16 1 <
i s U
43. The greatest number that leaves remai ders 1 and 2 respectively when 8178 and 7971 arc _-jg.
divided by it, is i -'
8178 So0atn 7971 0% S hoDS Iy, :'tdai’an* | SoBose 2 FaSnod ai:;r;
() 11 ) 13 (3) 17 4) 19 i j
L
L 44. Ifthe L.C.M. of two numbers is 1763, ﬂmﬂhe sum of those numbers is i
ol Romgo B 1763 wond, e 50@3& S0dS0
(1) 84 (2) %0 (3) 92 (4) S0
| 45. Ifthe ratio of three integers a, b,cis 3 :4:5 and their sum is 252, then the ratio of c and
147 is
': 8, b, c& Sard> &g Sowges 3: 4 SARBS* 408, 2 Ingsn 252 sowd, (LR
‘ 147 ¢ 348
(1) 7:5 (2) 549 (3):°9:5 4) 3:1
20 .
If the fourth proportional of T%. 4t md*i'- is k, then :: +: =
| dk+1 A
ol o = -
1= 5 0ok 3 © 8D IeHgsn ksowd, — T >
4 6 7 - y
(1) 3 (2) 5 | (3) 5 (4) .E & -
o
® . ;‘.
I

”“%} ?P I 4
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Bt Heses o 53D 2 S0l I8 Besre
Ser. I

55508 stes 8 Sobrio S gy

Ina 1000 meters race, Abeats B by 100 mete 2rs and C by 190 meters. Then the dxstane%
meters) by which B beats C in finishing the atrace is :

.=._

'-c:SJ-ﬁn Boratsr, C & 190 208 | o
$ 50 Hoswssiss B Hoows» Co 550‘58 e

1000 Bo&sg i Sodod”, B & 100,
dors'S Aﬁ..ﬁe‘:’rﬁ: woxd B S8 2088
Endo (bges?) a
(1) 110 (2) 90 FB), 100 (4) 120

In a class of 20 boys, a boy ate 25 ::hm%l}fﬁ:e average number of chocolates eaten b p
the others is one less than the average number of chocolates eaten by all, then the average
number of chocolates eaten by all is

20 %008 wrendy EOAS S618ST, o enlh 25 a5 a;;g:a: 2R0S & BAS ﬂ"ﬂ%

Sfd, Ando et 835 TEh a’:ﬁd.::*ﬁnﬂ 2.8 ééazrﬁ?.'s Snd0 Trendd 8BS ﬂ‘Eb:E_
GI0E), ik

(1) S @2) 6 3) 4 4) 2 |

In Arun’s opinion, his weight is greater than 65 kg and less than 72 kg. His brother does nqi
agree with Arun and he thinks that Arun’s weight is greater than 60 kg and less than 70 kg.
His mother’s view is that his weight cannot be greater than 68 kg. If all of them are cun'eﬂ
in their estimation, the average of different probable weights of Arun (in kg) is
s BsOJCH0 $5700 &8 pLHY 65 SISV EoB I8y D b 72 S ;'
§08 8895 Hotnod. Bl FEhd B8dS' I8loE, shd b 60 Bt rive
EoB I8y $006k0 70 S mine Ko 855 ©RFolTd. BihS SO Shet S8l
8P 68 BSMINOH Dod dodds. & B0K6 vosT e JaBed, vhid Sk, DI
Ms?_oﬁ wlye e (B maneds’)

(1) 69 (2) 68 (3) 67 (4) 70

10-A
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B T 3 i
T 7 THSESE) Sopg b

Qi g b = O

52, The nextterm that follows 214 in the seq

4.4,10,28, 64, 124,214, .. e50%08%014 5006 5 B0y |
G) 320 () 350

1|I"|

(1) 340 (2) 330

=

¥
".."_-'
e

la
>3 Thenumber that follows ~206 in the sequence 9, 2, ~17, ~54, ~115, ~206, ..i§

U3 2, =17, =54, -115, 206, ... egs0eti206 shos 5 sowg
(D 23 (2) 333 () -343 (4) -353
4. Theproduct of the 10% and 11 terms ofthe sequence 4, -6, ~6,~4, 0, 6, 14,24, ..is
“4=6,-6,-4,0,6, 14,24, ... s3§806* 105 5005 11 3 e g, ogin

(1) 3300 (2) 1800 3) 1864 (4) 2544

F‘l‘ﬂm Q.No. 55 to 57, letter sequences in Englishalphabet are given. In each s ueneeme'!‘if" of
the letters are missing, which are given in t%l: ﬁi-ﬁpr as one ngf the four ﬂwﬁttv&ﬁmf
Choose the correct altemative among them Y e
PHeo 55 o8 57 58 soff ¢ES eRESFD aKwAID. PO cHEDS R SHoDS
BESSNo® Srdod ool PLosal ¢ds Eos! e ojEsves aswaTon.
ﬁﬂﬁ' wOgLE sOESwd JobE dabol. E
55 —ac—-aacge-aagece—aaa

(I) ccaa (2) aace (3) caca (4) acac |
56. abc-adcb-cdaba-ccdabce~ad ) F‘.

(1) dbdb (2) dcba (3) dabc (4) abab s

abcb-—acab+~¢bec~-ab-c

(1) caba (2) baca (3) abac (4) acab |

[fthe letters of the word given below are rearranged to form a meanin ord denihes -

new order of the numerals that are assigned to each letter in the given m‘gg rd, then th

B0t cnBrabs DEes'S wETei L8 sEI0SEN Bho 5T Do 86A AR s

W8 @B DS m::’.w‘sa:ﬁﬁ ©oBe k) Srad oo e 3

HNRCAB

12345 b

(1) 653412 (2) 356412 (3) 415623 (4) 635241 e

11-A
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59. Ifmacermmcodﬂlmlgua@ T'RIAN L
iswritten in that code language as
2.6 58 guad’ “TRIANGLE' 578 5855562
w3 5850 aly o, i a0
(1) DYBNOMD  (2) DYZNOMDE .:;.--

60. [f*ski Ips tri”” stands for “Nice Simday Morning
morning” and “ski ptr glm” stands for “Ni
Sunday is . 1
“ski rps tri” &3 S50 “Nice Sunday moming” %, “teh sti rps” @S58 Everﬂ n ’“ "
mﬂmmg’ &, “skiptr qlm” @386 “’*hce nptacc"som* , Sunday & Srod Sd0.

k:tpla;eé“ mmthewmﬂmﬁts ands for

- (2) ps () u (4) glm
61. In a certain code language if ACE 1s “ﬂ. as ALY, then BED is written in that code
language as A
ok B'8 oad® ACE samdy ATY ﬁ‘i -
wJsood s
(1) BYE (2) BYD

62. Rani goes 20 km towards South from her house and then goes 8 km towards North from
there. Then at the end if she goes 5 km mWﬂI'ﬂKEBSLIhE distance and the direction {rom her
starting point to her destination 1§ :
(1) 12km,North (2) 8km,South
(3) 13 km, South East (4) 13 km, North East
b &5 ovold $08 Shmo 3% 20 8.5 drdo 3Y), 4 ol 8 .. $8do IYSK
I, © ST DIES" 5 8. Joen drENSE Bosred T, 35 2oHeed0S Josn $108
3 ABgTTNE fio drddn Sbokho BF

(1) 1282, &8do (2) 8§8.0, dmo
(3) 13 8.0, shoho (4) 138, &aSgo

63. Priyatravelled 3 km straight towards South, then turned left and travelled 8§ km straights
Then if she turned right and travelled 3 km straight, the distance from her starting pmn.t 0
the destination (in km) is y
Bok S8we Ik 3 By a8 BSosrSod, QB 5TYLs &Bh 8 8.5 SSyr @qj\ygﬁgﬁ_
ef 6 $08 ¥ &5 H835% 804 3 A AGT Bordy 6B neHeXBO éﬂ
08 KSgFaNs fo Erdo (8.5.06%)
(1) 6 (2) 8 (3) 10 l’ (4) 12
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64 Sundhya's house
s 1 _'r'u *s

65.

66.

67.

gu&; e::'a Mf‘
D. 3 8. &3 ¢
1 #—;ﬁ&m&:ﬁaﬁa--&&a}ﬁa ?:ﬂ;sﬁ ﬂ;ﬂa
ﬂsaga;ma Ko drdo (.06Y

(15 (2) 10 3) 15 (4) 20

.....

her's brother is the father of m* .f *n'
ThenCharamsrelutedtuKazaias ' U

(1) Sister-in-law (2) Nephew 3R
(3) Aunt - (4) Niece
SR BB, “R8] 6 O FEHM, Shirhh siS GG, Sob”
@od, 52868 SUS5E e L"Jt:uzam:."m
(1) 36% 8o e

(3) wold

(2) &0 S PE0 Ssrdody
(4) Ps60 So F86 BB

Intmducmg aman, awoman said “His \!ﬂﬁmllw only daughter of my father”. T&ﬁiihatmm |
is related to the woman as

(1) Brother {2') Father-in-law -
(3) Maternal uncle % (4) Husband g
o8 HLDAD SoSaho Bz, ‘o 8y SrHmd I8¥ 0803”6 oE [ €c8, &
L?g&’ & oo g e Somodo '
(1) @Feds 2) Brsomd:

(3) Fossrs @) &4

Mahesh told Manoj “*Yesterday I defeated the only brother of the daughter of my paternal i
grand mother”. Then the person defeated by Mahesh is his

(1) Son (2) Father

(3) Brother (4) Father-in-law

HEFE HR W) [ S & 880y me 50370 SINE, JBE HSGHAD Lo R
@wol, Saran L&ammﬁﬁ 558, ©dd

(1) §&ss (2) S0

(3) s (4) SrSemd

1 Aol -
e :ﬂ“fﬁﬂ#m:";ﬁ: ar
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68.

69.

70.

s

7

l} | Big triangle represents artists

(1) 155 () 165 (3) 175 4) 185

GET IT ON
Google Play

2)  Small triangle represents mientis{;ﬁ} |
3)  Square represents dancers
4)  Circle represents doctors

2,
) g @gonin gevdosn S Q0%
2) ﬁ.‘él B&hasn r&ﬁguﬁa ArDoTS
3) B0 SEshes oot
9)  5EE Idgen S0,

The letter that represents the artists whoare the doctors and dancers onl y s
Bosdiod® Ko Schgen Sobosn SEsethess Bl Sodoh ©issw
(1) A ) D 3)) G 4) H

The letters that represent the artists who are neither scientists nor doctors are
Eesdod® ryddor, 3tsor 50 38D Srdod BESS0en
(1) AB (2) AL 3) B,G (4) L.H

The letters that represent the artists who are dancers as well as doctors are
s dod? DI 80k Sgar sondsil Srdod wissnes

(1) AD (2) CA (3) C.D (4) GH
The letter that represents the scientists who are not artists is

TIVED LonPos, Sorridsen SH5tnSo8 TOD Brdod wEsSn

(1) B (2) D (3) F (4 L
The missing number in the

l ‘q’ 1 ' % ‘._
following is place of the symbol “?” as shown in the third £ gure of the

BoS 2N BdS Ygoest 9 8 @) FHoSt DD Sopg
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ﬂnthegwcn cunelusmns
StatementsA:  All the organised pe ot SR
B: Sumta, lﬂ&pﬂi& ﬂf r;'. L. & LTI
Conclusions: I: Sunitaisanorganisedpare,..
Il Sumtalsanmdus
(1) BothIandII follow
(3) Only I follows
BHSS Bod ESSESne, Dods ﬂu*ﬁ
::q)gm;s.: mgmuﬁu&

son
[2) Only I follows
(4) Neither I nor II follows

5 mﬁgmﬁ:&.ﬁ e DTERO

Ll

II: Jo0d H0F0d 66@!9?&

(1) 158030 [lefssdron ‘(:z) [ Sorgd 88562908
(3) 3@ o55908 (4) I, I eo Bodr ©8005S

74.  Givenbelow is a statement followed by hvi:r conclusions. Choose the correct option based
on the given conclusions.

Statement: “Fortune favours the brave",
Conclusion: 1)  Risks are necessary for success.
) Cowards die many times before their death,
(1) onlylfollows (2) onlyll follows
(3) either Ior Il follows (4) neither I norI1 follows

& Bi0SS wE @ePaaan 00y Body SJD;'.'fEﬂEJJ EI:}SEJ&FSQ. af{l;& chgﬁﬂg sdom
Slelen i aﬂ:;ﬁaﬁwé.: fobodod.

PSESEn ¢ SgRoei edic 565308.
Agdees @ I)  Judhrdss o), Hof'Sdo vlddo

) 0838 20 So8erdl 59060 STERD Sveds,
(1) 15r8d 50505508 (2) U3@3 e20b08508
3) 158 8o 5 eXk83ew @ Ll 3odr ess58053

' 15-A
l .H-
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75 ‘Whlchmufﬂ:e following conclusion

77.

78.

'Cﬂnﬂlusmns 4
(1) Examination is related to hard w work

GET IT ON

Google Play

e Tomeoeedinne A

(2) All those who work hard will succeeg

(3) Examination causes some anxiet ; ¥
(4) Without hard work one does nots o
68 Wadara) 1$ob mn‘dmﬂé" 28 ur

(1) %68 30F%08" 8r8 Gotwod
(2) L‘ﬁhﬁiﬂ v alofelalet) ﬁﬁﬁgu@g&f

=

(3) DB §od sé & Eeofanod

S FooBards By SOrWoBHEt)
(4) @ESnasom 58r e 586

Twao bodies of masses 25 kg and 35 kg aredropped vertically from a certain height from:
ground. The rate of change of their velocityis

(1) More for the body of mass 35 kg (2) More for the body of mass 25 kg
(3) Same for both the bodies (4) Zero for both the bodies

o Fod Jddood 25 kg, 35 kg (B3gorben fo Dok SHHo Edﬂ&ﬂéa’a& 3
Amesd Srdy b0

(1) 35kg 85508 Ho SHHs RS (2) 25 kg 85502 Ko SRIE am

(3) Bodks SuHoss HirHB0 (4) Dods SPose 2F
Which of the following liquids expands on cooling from 4 °C to 2 °C?
(1) Water (2) Benzene
(3) Ammonialiquid (4) Chloroform
o 8t D Bard) 4 °C 508 2 °C & SenddsHds, 7g5'R0s?
(1) o 2) BodS
e R iy 4) 695
Which of the following is not an application of total internal reflection?
(1) Formation of mirages (2) Brilliance of diamond |
(3) Optical fibres (4) Appearance of sky in blue colour
{Bo8 PES" 3B Jorgods HorsgTRl BHSGER0 T E?
(1) doddryes e (2) Seo BEEomHE
(3) &yF dudPes (4) w50 LOForHe" ERBOHL

16-A
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80.

&1.

GET IT ON
Google Play

de - | (Srgo)

e - Il (855650)
a) |BYésweo 848

b) wme ErH¥o :;i) Qﬁﬁiu-ﬁﬁjﬁn . X ..i'.
¢) ofro®E ¥8 i) nos wrgsst s "
d) B {gﬁﬁsﬁﬁ aﬁsﬁs JaBo 'f) 68 58 -
Choose the correct answer )

SOGLN SSrTIBR KBoHSso
(1) a-ii, b-i, c-iv, d-ii
(3) @i, b-ii, c-iii, d-iv

0oy Ot B o de
(4)  a-iv, b-iii, c-i, d-ii 1

A block of mass 2 kg is lifted through 2 m from the ground. The potential enierpy ofthe
block in joules at that height is (g = 9.8 ms=2) g poteniial CUSEEN O

2kg 835077 o w8 B35 2o K208 2MAKS: D8I, © I8 S & By How 2

FS0S* (g=9.8 ms2) il 1

(1) 392 (2) 196 (3) 4.0 (4) 342 :

Assertion (A) : Cricket player pulls his hands backwards while catching the béll-"_’_"j ming
towards him with high velocity i

Reason(R):  To catch the ball without missing

(1) Both(A)and (R)are true and (R) is the correct explanation of (A)

(2) Both(A)and (R) are true but (R) isnot the correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)1s false but (R) is true

BETES (A): 688 sbmd w83rom &5 B STy w0l SLpFHLE, 85
Dho I5Es ovberd. [

s6mo (R): 2083 sbhydrsion Hegfbiss

(1) (A)Ss80s0 (R) e Bodr dao 538850 (A) 8 (R) 56505 956w

(2) (A)S:008» (R) o Todr dzo 82 (A) 8 (R) 58518 2560 s

(3) (A)dzo 22 (R) 8y

(4) (A)sdy 5°3 (R) dzo
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R3.

84,

33.

86.

(1) mA (2) VA (3) VIA (4) HA

Kirchhoff’s junction law is the conseq
(1) Conservation of electrical energy 2) Conservat
(3) Conservation of electron mome! :'I:-';:‘ = } C ﬂf EIEEME W j:_
B60 2ofS Acho B GoF

(1) Defogd 8 ASge50 } dugs @"‘S i Mﬁ

(3) Jogs BSgan Jdg8c0 4] Dosode 345659

servat mof Elﬂ‘:hfﬂﬂ m ' ~.__

Which of the following waves requires medium for propagation?
(1) Radiowaves (2) Soundwaves
(3) X-rays (4) 7-rays

08 DES* J ddore PIOIE IrEHS BSHES?

(1) BB sdormes (2) &5 Ssomes
(3) X- &dmren N4) 7 - &es

The maximum number of electrons that can be accommodated in an orbital with #=3 and
I=1is

n=3,I=12end0 Ko af ﬁﬂaﬁrﬁﬁ‘ﬁ ﬁﬂg JuEd Sowg

(13="2 (2) 6 (3) 10 (4) 14

Identify the aqueous solution of the salt whose pH is less than ©7
pH Dend *7" 5m 8859 8 Ko olnane \E'SerRy goSod.
(1) N-ZESG.; (E) CH}CUGNE- (3) Na(l E4} NH,tCE

Which of the following processes represents ‘roasting’?
o8 >ES* 2B WYKo BB arQegol?
B 720+ 3,:,_:\_,2 Fe+3C0 (2)  2PbS +30,—252Pb0 + 250,

Inmodem periodic table, an clement ‘X" has ns” np configuration in the valence sheIL
beiungs totheg > group; y

ﬁr@ﬁa wodas - g
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(13 mﬁ (2} %oﬁ @) ?
01. !nplﬂntﬁmnductlnnof-mgmthmugh 1ha »b:mdmonsu‘alﬁdb?
(1) Cobaltchloride paper -':;1 wmgﬂﬂgﬂfm -t
(3) Thistle funnel experiment 4) Wmmﬂ L
Ao os’y HaE Enmoodt 57 b0 & s Dibod [HErHo *

(1) Feod 8056 shdo J, > 2) BEd Sucirdy Sofosbo

(3) 86 fode PRrKo @ % JECIOH LTI .

Match the following, i i’
List-1  List-1II | 5%

A)  Principles of population i) Atavism |

B) Elongation of neck in giraffe ii) Divergence

C) Babywithatail | 1)  Malthus 2

D) Fore limbs of vertebrates iv) Lamarckism

v) Convergence

adSdow:

e - arfo -1l
A) aTwr wgodo 1) eotrdase
B) 208! 34 bo i) eoiado
) &' sons 36) i) Scond
D) ﬁ.ﬁtbs'u JroRome V) erdrfad

v) edddo

(1) A-iiiB-i C-1i D-1v (2) A-1i B-ivC-ii D-v
(3) A-ni B-vC-ivD-ii (4) A-11Bav C-1 D=1
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94.

95,

:@uesa%aam 8 %08 $BS 2L I

GET IT ON

Google Play

A) Bewddh SraBESG0
B) &rstE oghod
C) ersub Sopg Sifto x’m&' u:sm

D) Sy aﬂB‘%S -
(1) A,B,D (2) B,C,D ’(3) A,C,D (4) A,B,C

Assertion (A): Steapsin is secreted b}rﬁm
Reason(R): Itacts on carbohydrates

(1) Both (A)and (R) are correct and mj»@the correct explanation to (A)
(2) Both (A)and (R) are correct but (R) s not correct explanation to (A)
(3) (A)iscorrect but (R) is wrong

(4) (A)is wrong but (R) is correct

PREFES (A): BSdn SHob Rolrins Pdosadifios

§8m0 (R): =8 boddmgon H0Tdhn

(1) (A)0cs (R)d=0. (A)E (R) 588 s

(2) (A)S0as (R)dzo. (A)& (R) 508 D56 525>

(3) (A)3=0 3 (R) dzo 5

(4) (A)Qzo 52 53 (R) dz0

Choose correct schematic path in coagulation of blood.

(1) Thrombin — Prothrombin —» Fibrin — Fibrinogen — Clot
(2) Fibrin — Thrombin — Prothrombin — Fibrinogen — Clot
(3) Fibrinogen — Fibrin — Thrombin — Prothrombin — Clot
(4) Prothrombin — Thrombin —s Fibrinogen — Fibrin — Clot
gE 0880 200LYE D06 e Hdond SED 5 HBoSes.
(1) 12085 5 PEeods -, PS5 —» DOTES - KNG

(2) BB > @085 5 PaodS —» POITES — SEHKY

(3) ROTES - PO \@onS — @EODS — SEYIG

(4) S8 - eobs -, yosal - BOS - 65big

20-A
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H RS T

o :m&&w omdor, i ¢ 45
1) Hiod, ssodd) S0akns LB

) e, S S0k a&m; )
@) shdd, 5509 Ho8ckn viBE), Bld

e

(4) B, eBdy) HoL Y,

97. Assertion (A): Littoral and Limnetic zones are photic zones.

Reason (R): Inalake phntnsynthesiam jasq in these zones.

(1) Both(A)and(R)are true and (R) is. ﬁ&mm:ct explanation to (A)

(2) Both(A)and (R) are true but (R) is not the correct explanation to (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

BEIES (A): OIES S0 IINIE HooGeres FoGSom dotron
5600 (R): 36535 & Sodoros® E8masy SodorriBos S8g5m adidoos
(1) (A)38c5n (R)dzo. (A)& (R) 333 D856 4
(2) (A)Z0cso (R)dzo. (A) & (R) 885 D55 57 |
(3) (A)dz=e 53 (R) dzo 578

(4) (A)R=0 5& (R) R0

-'; B, The special structures present in Dolphins enabling them to inhabit at pamculardtpth in

the water are

(1) thpcrﬁ (2) Floaters

(3) (4) Tail

u‘ﬂﬁﬂa bl.'.ﬁe'.i‘ ﬁgﬁ %mtﬁ" WSnodaRE o8 BrostD iﬂﬁgé doeres
(1) 8 Sowges (2) Pube

(3) &hoedew (4) &%

21-A i
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100,

101.

102.

-
L -

" (1) Neemand Jatropha

(1) 33, ags's

In plants, the nutrient that helps the rmmgﬁhcmm deep into the soil 1o absorb putrients
quickly

(1) Carbon (2) Phosphorus  (3) Nitrogen (4) Potassium
Sufod o Juest s'dm ﬁ’tﬁax},ﬁaﬂ'% FSE STges o FRoHESTI8
&'dyad Sago _

(1) E&\So (2) zrigdo (3] Sal (4) Siracho
Match the following:

List-1 List-1II

A)  Sulphurdioxide i)  Catalytic converters

B) Rhodium ii)  Globalwarming

C) Ozone depletion i) Acid Rains

D) Carbon dioxide iv) Montreal protocol

BSSE0Dodw:

ardioe - | ade - 1l

A) Sey6 doirgons ) BLBBE 55045

B) &'aako ) i) fod 38k

C) &&'5 bnd i) &5 Sovew

D) 585 doirfons V) Sroldchd SHSsS

(1) A-iii, B-i, C-iv, D-ii (2) A-iii, B-ii, C-iv, D-i

(3) A-iii, B-iv, C-ii, D-i (4) A-iii, By, C-i, D-ii

The ratio of ploidy of chromosomes present in nuclei of antipodals, synergids, zygote and
‘endosperm respectively are

GET IT ON
Google Play

ﬂ) Gliricidia and Jatropha
m&aﬁ (3% aosH0) EE8s $3005» &

“ et 35

(3) achacss, w's (4) =¢'>, nebacsr

@EME Eeres, :Bﬁ‘uﬁ; Eren, Hocsing Dads, Huéadv:’ad:&:aué"ﬂ Bt S 28
DG B
(aestes A2 1:0-3:2 @) b:ili2:3 0 (@) 1:2:3:]
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D) Hacckel
e 3666w Lo Eod TN 2EREE B,
>de - | | Y i
A) oes i)
B) o9)hs i)
¢) 8506 D) Bogs o 4990
D) Es " y) Deeo
i.T ""’J woh
(1) A-iii, B-i, Caiv, D-ii. {z) Ay, B-iv, Cif, D-i
(3) A-iii, B-v, C-i, D-iv (4)  A-ii, B-iii, C-v, D-i

105. Assertion (A): Inechinoderms water vascular system helps in excretion
Reason(R):  Inechinoderms excretory system is absent

(1) Both(A)and(R) are true and (R} mlhc correct explanation of (A)
(2) Both {A) and (R) are true and (R) i mnnt correct explanation of (A)
(3) (A)is false but (R) is true

(4) (A)istrue but (R) is false

BBIES (A): PIEEoS* moBSbn S5 IGIS' Sdyodos
s0wo (R): PTEG o’ 0578 Sgig Sod.

(1) (A)S0050 (R)Bodxr 365050 05 (A) & (R) ROSHS D58
(2) (A)Ss8csn (R)Bode 205080, 89 (A) % (R) 80608 2586 s
(3) (A)B0558 5 50 (R) 565058

(4) (A)S6eHEE &3 (R) $88058 s76

)

P &=
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107.

108,

= |V

GET ITON
Google Play

| _@"ﬂ Wﬂa oL deros’ HTSH

D) Gorigrs
(1) A(iv) B(i) C i) D(ii)

ﬂﬁ-’if" 3

::'- g F]H eat b ALl
' b F'lq' —1.' .
1 t -::.E 1"‘.: F-"\ \.%

] * .-_._ ..
& L‘L r

=0e - A
A) o
B) 3wsroncd'
C) &'z

(iv) gragodo
@) A (if) B (iii) C ) B(nn}g
4} A (i) B (i) ¢ (iv) D Gi)

(3) A(ii) B(i) C(i) D(iv)

Who wrote the book “Prataparudra Yashobhushanam™
(1) Prataparudra-1 .RI? Jayapa ||
(3) Vidyanadha (4) Praaparudra-11

SES GiE oo Erano’ - (os SE0E)
(1) Booaes Sarsooghas = '( ) oS
(3) s la gl gl ¥

: (4) Bob' @HerStE8
Consider the following statements: i

Comwallis permanent land settiement Bengal:

)  Deprived the zamindars of owners 'fnfthalr land

b)  Put the ryots under the mercy of zamind

¢) Secured a stable income for the ?

d)  Made zamindars allies of the EastIndia company

Eob sgpgeis $6¥doTes »

SESTOS Bomds' T8y g ah'ﬁo wavRLdos’

8) 2oWSE fo Eralrasrages ﬁ‘uﬂo;’a

b) ﬂ...:n:rgﬁo SeSrmrfrgos’ TonsBnt

¢) $ondE WS vorco KOhoHE

d) =oargi s Dngtagam Bk

Which of these are correct?

HieS* HBWNG 287

(1) a&d (2) bc&d = (3) ab&ec (4) ake

?—A
; .



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

. Who was the First Bengal Governor géners lL it the time of 1:‘.:t:r!l'li.'ﬂ!tlllr‘“'ﬂ“if i ."-
(1) RobertClive e -

(3) =65 ir%ok

\ _.3(4} Ddcio BoSE

I11. Assertion(A): The British pa:hmnﬁntpnssad anewact in 1858. Transferred th
of East India company 10 the British crown.

Reason (R) : To ensure a more respnnsihle: management of Indian affairs.
In the context the above two statements which one of the following is correct?
| (1) Both (A)and (R) are true and (R) is the correct one
(2) Both(A)and (R) are true and (R) is not correct
' (3) (A)istrue but (R) is false
(4) (A)is false but (R) is true
EBIES (A): 1858 S @8R 2ol w8 §'8 Sig) 2dde Bhod. Srdy mobesr
Eond $008 uis o B8R 088 280 Fohnas. y
s6wo (R): 76805 S555°0 e BHOos rdgss’ Adsroses. il
ol TAS* DB BOFSH?
(1) (A) 50080 (R)Bodor R0 $:8csw (R) 038 8@ 256w
(2) (A)SBasw (R)Jeds Jeo 5088w (R) a0 576
(3) (A)3=o 53 (R) 88y
(4) (A)8sy 50 (R) o

POl ey T Ty
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 ADB& mgssosy
a) ma; T IS oD i) e S8Srao
b)  ela%os Qi) asgmi Sdewo
€) ®seoo Fodkdolf ' iil) (@& S
d) 5 dasrsoseds iy ¢ dsrao
(1) a(i, b(iv), c(i), d(iii) (2) a(iii), b(ii), c(iv), d(i)
(3) a(iv), b(ii), ciii), d(i) (4)  a(iii), b(i), e(iv), d(ii)
I13. Who preached the Idea of “one nation one God and one religion for all”'?
(1) BhagyaReddy Varma (2) Narayana guru
(_3_] Jyothirao Phule (4) Annie Besant
“28 o8, 0.3 880, w8 Hodo wosos" @A SB0387
(l] AN .:S'ﬂé | T (2) sTochehd
(3) #ge0H Fd (4) widDoES
114. Which one of the following did not form a part of the chola army?
(1) Navy (2) War-elephants (3) Chariots (4) Infantry
ol TS 38 e ¥ wordE [o85E 5Es?
(1) Feseo (2) K=ddo B ssoss d) So8ses
L15. Which of the following is wrongly matched?
(1) Sepoymutiny- 1857 2) Batle
(3) III Battle of Panipat - 1761 l(:di Battle Eﬁgf::y 131;: :
808 TS Eyr 2356056 D87
(1) Ddroxe 8&ierey - 1857 (2) 2 oo - 1757

S B) Serd FSE wndo - 1761 (4) o6 awgo - 1864

264
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el P N

| 3 ) Eﬁnﬁw |
@) o -
(3) cSrEd (4) *
117. Theiifehjstorynfﬁaulamaﬁuddhais;hﬁﬁmg P .
(1) Jamkekathalu  (2) Tripitakas  (3) Buddhacharita (4) Dammasutras
TE0en&N 208 SBE & Do @hﬁ;ﬁnﬂ;ﬁﬂ e

(1) =ds 8geo  (2) @d0ssHe) (3) w30 (4) émﬁr e
I
~18. What is the meaning of *pasuras’? L-uj I‘i
(1) Singingof the hymns on Vishnu (2) Songson Shiva y
(3) Hymnsof Rigveda (4) Teachings of Buddha L
TRV wImr?
(1) 2RID 28 SE5Srd¥en (2) P8P WY Fd e
(3) &AS Sorgen (4) 2080 G
119. Which festival was celebrated in a great manner by the rulers of Vijayanagara every year?
(1) Ramanavami (2) Janmastami
(3) Deepavali (4) Mahanavami
DoRHRE Traren 28 LoS&PEn wdsod DESom wbh BokK De?
(1) oS (2) =
| (3) &35 (4) SoF*ss5m

120. Choose the correct pair of the following

}_ (1) Vallabhacharya - Jainam (2) Sankaracharya- Vaishnavam
(3) Rnnmnujacharya'\ﬁsisthadvaitmn (4) Madhvacharya - Advaitam

BB TS BOToS 2B $:805507

(1) Segrardges - Bibds (2) Fosrardges - 3z 3450

(3) odrdErordoges - JFFTeS0 (4) mﬁ'ﬁﬁ‘ﬁbgw B0
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(b)nﬂ:?

{33 Bnm(ajmd{b} (4) Neither (2)nor (b).
o DOOEHD.

08 Drgo'dgs digo 08 Lﬁﬂﬁ" et
8) Ddgdotio Sodes mod HITSE
b) gyses sorasd mu:;lﬂ
(1) (a) S
(3) (a) 308050 (b) Bodr

| ﬁ) Bodr B

122, Match the following:

List- A List-B
a) Desoddharaka Tilak
b)  Desabandhu i) C.F Andruce
¢) Decenabandhu iii) Chittaranjandas
d) Lokmanya iv) Kasinadhuni Nageswara Rao
2a S Sdoa: :
et - A adar - B
a) dgos ) oes
b) B¥zofh i) C.Faodrs
c) &8 podd i) D&Se=SoR
d) &'Eirsy V) BISR ondoD
(1) a-iv, b-ii, c-i, d-iii (2) a-iii, b-1, c-ii, d-iv
(3)  a-, biii, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i

123. The Gujarat Sabha under the presidentship of Mahatma Gandhi played a leading role in th
(1) Agitation of Nellimarla Mill workers (2) Agitation of the peasants of Kheda

(3) Peasantsmovement in Bardoli (4) Satyagraha

ol TraREded’ KuodS® wond Hoabd

(1) 305E ow 56,8 wostds (2) BErs'd Ddbe sosEs
(3) 25 06°d Db soE wS (4) Seguidro
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(1) am sgm ::lgmoa Gorro Swok;
2) @ﬁoés FETow, Ewumm =
() Eeo Sovmro w08 DS B
@) Seody BTG, 6T S5 o

125. Which of the following is wrongly

(1) Partition of Bengal - 1905

(3) Gandhi Irwin pact- 1931

EoB RS SHy BSBED6 D87

(1) Boms dgas - 1905 @) D55 ghoas - 1925

(3) mob - w055 et - 1931 (4) 85 oreerdo - 1942
e

126. Rabindranath Tagore gave up his knighthood b

y Simon commission - 1925
(4) Crips Mission - 1942,

(1) Jallianwala Bagh Tragedy -
(3) Execution of Bhagat Singh (4) Chauri-Chaura incident _
SHoda 8 wiird 88 JIETVE DR Dot T SEOI T 4 ;
(1) 200H8 sorarh XSS5 (2) =s5foohnd s VOIS u
(3) rSbok a068 (4) Tb - To Sogabd

127. Arrange the following events in the chronological order
i)  Crips mission i)  QuitIndia movement
iii) Individual Satyagraha iv)  Augustoffer
Eob dowbdo FerioEs g’ 8oy
i) (89 craRwrdo i) 5585 Robdir &dgSoo .
i) g8 vegiiro V) s SIS,

(2) mi, v i

(1) v, dii, 1L, 1 e
(4) 1v, i, 1, i

(3) i, i,iv i
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129,

130,

28. Which of the following dayisthe’ F_._. CCtActio
(1) 1940 August 16 b SR {g} 1942 squtnmber 26
(3) 1946 August 16 (4) 1936 October 26

i
S0PodE beogd BEgE SopBLo T By

8005 &'a
(1) 1940 iz 16 L (2) 1942 wponds 26
(3) 1946 srizy 16 ©(4) 1936 efwd 26
Which of the following movement w&s_ﬁt;t_m]mgd to Gandhi.

(1) Non-cooperation movement
(2) Civil Disobedience movement
(3) Home Rule movement

(4) Quitlndia movement

Bol 206" mods Sowohodd ﬁﬁﬁgﬁ}h?
(1) s3cl JoEss‘sgso

(2) TdSfoeded &dgiuo

(3) oo &rd eidgoo

(4) BEe&S modulr &dgdo

What is the reason that Naval Revolution' was held on 1946, Feb 18% at Bombay.
(1) Forpromotions

(2) Toprotest against bad food and behaviour of their British officers

(3) To protest that the British couldn't pérmit to form a union

(4) Toprotest for high wages

1946, Dpss 18 § FTowrond® Ted¥ Bhibering Ko 55mo?
(1) 3&Hhve Fose

(2) PS8 885 he B8 Hdchn HETS BIo BEFJdk SE3ERR VDol
(3) Sco otk PG sHRBISPFYLLE Vol

(4) ©&t Dsxro P DSBS
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m A,Bmmmmmw o
) Mnﬂﬁmmbummdﬁ
(4) A and B are wrong but Cand D ar
588 waHok SomoBod BBEID,
A) Preoo 3gS o Bmgso 8
B) frod wSddines whsh ﬂrﬁ ol
Q) IbhPods DYSSEy

D) & oot Jidr $3so
(1) A, Bsbao C505080 0 D&
(2) A, B3ocin Cady 28 DRSS .Lu.
(3) A S0csn BReghsd s C &Bnﬁb D &y
(4) Adesn B 8sy &8 Cssbosn Do

_ The atmosphere is mainly heated by
(1) Short wave solar radiation

(2) Long wave Terrestrial radiation

(3) Scattered solar radiation

(4) Reflected solar radiation |

. Ters8ee Bsor 82 S0 Sa8y, ded
(1) #6 D86 w30 SCoMeR

(2) ro8Sm BY SGomes

(3) 8 28T DG

(4) & DBgm STBINO
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- by & } E'uﬁiﬁ'
A *"’LB’*MC"": D-iv ', 2) A-iv, B—m,&n,B-t
@31 A"il, B‘!, C—W D-]“ ,}iﬂ) A.,lvlﬂ_m!c.‘[j D"‘“-

134, *Gulf stream’ is found in this ocean.

(1) Pacific ocean Tﬁ Indian ocean
(3) Adantic ocean  (4) Southem occan ,
ﬁuﬂé @;f-:a-zs;; & BFBB0 G gﬁaﬂéqma
(1) SHOE BossvEsn () wrodr &#ﬁﬁm@ﬁn
(3) eirollE SHTBSSIN ;g_m BEe> BodHBOGED

135. The gases which are called as Green House gases

A) Carbondioxide B) Methane

C) Nitrous oxide D) Ozone

68 (‘fa&'ﬂwﬁnﬁm o0 o8N solrd.

A =453 656 B) 535

C) B ugs D) &£&°5

(1) AB&C 2) A,C&D
L (3) AB&D (4) AB.C&D
e 7



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

ﬂ) &Cm&ﬂmeom |

(3) B,Cand Dare correct
BoB Trgmges’ Hoges O Hgoded.
A} 'ﬁhd:ﬁra' uwﬂc‘dr ﬁrgﬂ .
B) @EroiiE SHFBS0 0 - gﬁ:ﬂﬁ# :‘- m&@, Hﬁﬁrgr&: ﬂﬁ:ﬂ .....
C) Srodr BEI0E0 - BT, SO, u@uuﬁruﬁa B6oBxgoeb ,
D) &8m SoES50E0 - okrd, 8550 Hiy #oknod A
(1) A,C%0050 D365 ﬂ'(zy A, B $6cin C8OGRSD
(3) B,CSo80%0 DHdd%d (4 AB, C 538653 D565HSa

| !y
137. One of the following is not a cropping season

() Rabi  (2) Kharif (3) Track @) Zad
808 T8S* Bob sosn 528 | .1
(1) &b (2) =6% (3) w§ (4) mosr&

138. The following industries which are also known as *Sunrise Industries’.

A)  Ironand steel industry ~ B) Information technology
C) Hospitality D) Textile Industry
(1) AandD (2) BandC (3) AandB (4) CandD
QB BSTE SYFen’ B Sra wotrd.
A) adsn - S8y SBES B) #&roddn - rosass
C) w8Fgs D) 33 $0@&

(1) ABosD (2) BHsawC (3) ASeanwB  (4) CSecswD

139, The highest peak in Eastern Ghats

"~ (1) Anaimudi (2) AroyaKonda
(3) Dodabetta (4) Mahendragiri
Erddy ESed’ Jgﬁ 280
(1) @E;rma (2) =8'chH 5o

(3) G483y @) Sriroshs
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B) ﬂ!rNatmnai park
<) Mahavir National Park
D) Intaki National Park
BEBESH 300
A)  2obYs FASS 36,

) Gujarat

Trerod

B) A5 3556 36, i) sows

C) 505858 Bass &8, i) Ao

D) mo&8 3RSS 26, V) dHzuos

(1) A-i, B-ii, C-iii, D-iv (2) A-iii, B-i, C-iv, D-11

(3) A-ii, B-iv, C-iii, D-i (4) A-iv, B-ii, C-i, D-iii
[41. The main source of the Indian Constitution;

(1) American Constitution (2) French Constitution

(3) British Constitution (4) GovernmentofIndia Act 1935

08 orargolSnSi BTN eodsn -

(1) ©0OES orargorisn r (2) (Ped oErgolsn

(3) ©88% oargorsne (4) or8d @G S 1935
142. The words that were added to the Preamble by the 4274 Constitutional Amendment.

(1) Socialist, Secular (2) Socialist, Secular, Democratic

(3) Socialist, Secular and Unity (4) Socialist, Secular and Integrity

425 Trergoll $E8e & dTed ool [BI8ES’ DodbdENod.

(1) &Sz, o785 (2) ddogard, TEE, @erangdog

(3) dSogrd, 85 Ba%» DEgE (4) >Sgars, 688 Sobcdn dHH
143. The State that was first admitted into the Indian Union as an associate State

(1) Sikkim (2) Goa

(3) Meghalaya (4)  Jammu & Kashmir

08 CrAehSSE Bndd wSiwcd T° R S0 ﬁfﬁ:xﬁ‘z&&:ﬁ o i a0

(1) %o (2) Ao

(3) Sodrodh (4) adny &eyE
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) #Qﬂaﬁ%& )
@) ﬁﬁw&wﬂ 5308 Deods

45. W E Am-:te of the Indian (
nnnjustu:lahla .

(1) Article36  (2) Article 3§ (3) Aricle37  (4)
63¥ Sr@of TebBodtn S5 S By Targoisnet wﬁi‘*‘ﬁ
(1) 365 @88 (2) 395 ¥ 1: (3) 375 @gs (B 388 ﬁt

T F 3 i < N r ._,..._.
.I.I -I . I =t ‘ﬂ .l-J :“. 1 [ : |:
S -", i 1% 1 i

146. As per the Indian Constitution which nftﬁ'fb,l lowing is not a Fundamental Duty:
| (1) Todevelop scientifictemper

(2}_ To safeguard public property

(3) To paytaxes imposed by government

| (4) Torespect National Flag LA n

' S Trergomy)) wodbod §oBTVS® (FHE A6 578
I (1) =R S8 Dodrobows o Lf
(2) ebds udod HobBoE D

(3) Bzosso ABeDS Dot BYoHSTL

(4) z8ch Hes ) TEJoTd

147. Who became our Prime Minister after V.P. Singh

(1) ChandraSekhar (2) CharanSingh

(3) RajivGandhi (4) H.D.Deve Gowda
35, Holi S&hd S5dF BEEod S6DD BEGST

(1) Sosesd (2) €GOl

(3) odamed (4) 5.8, 3374

-':,143 [n which list of the Seventh Schedule is the subject of local government mentioned
~ (1) Unionlist (2) State list

« (3) Concurrent list (4) Residuary Items

75 b SSt IV < 2 e’ FIE PLOEIW B Bo¥N PoBESnbod

(1) Bob erdd (2) og =0

@B) sob o0 (4) ©5%g voren
| 35-A L
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149, Whopresi he sessions of Ra N
| = “?ﬁ%fﬂﬁ 3 , Bﬂl’“‘ﬁ%ﬂ
{' g’f ‘Vice Presidentof India (4 President of Ind!
L ougds ssrdvosk J30 o4ES IFEEm
i (1) &6 Q) aygs ¥
' () w68 asoHse ) o8 TEsd
ill lies with

150. The power of deciding a bill as moneyt ill lies :
(1) .%E Speakerof the Lok Sabha ~ *{Q) President of India

(3) Finance Minister (4 Prime Minister
8 Denils (Eighes™ Qoo mﬁmﬁﬁm_ A5 dotnod

(1) &'538 586 2) wés ogss
(3) Gl w0l (@) & 0@
I51. President of India addresses his letter of resignation to o o
(1) ThePrime Minister of India ) Chief Justice of Supreme Court
(3) Vice President of India ~ (4) Speaker of Lok Sabha
I3 CRsa 85 i AER) Q508 BBo0yoTd
(1) =68 Pedsod &) RoPosy PTS Tgosrg
(3) w58 sv0yDe (4) &'Edg &y88
152. Which of the following practice is correct with regard to the appointment of a Governog
a State '

(1) He should be a person from outside the State
(2) Heshould not have more than 60 years of age
(3) Heisappointed by the Chief Minister of the State

(4) Hemust be in legal profession
LB of ASE0 JolreRE Sonchod & o8 FoRpTairedt I8 TYS5®

(1) & 558 & orrdd DobSard 578, ol @roerns DoldTd domd
(2) & 358 Scidgy 60 Sodg)oress oD Godois

(3) & ol Sopghod Achdords

(4) © 58 T7gaDad domaods ;’Jﬁﬁ‘ Soord

153. The Article of the Constitution that provides for the establishment of Union Finag

Commission:

(1) Article 289 (2) Article 360

(3) Article 287 (4) Anicle 280

Crergofics' W BESad whdtod Bold BL5 BoPo Jomin Bohudidiod
(1) 28935 S8ow (2) 36035 S5

(3) 287 & SEbe (4) 280 35 B¥8e
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--(1)“ Eirnter snhnma tﬂl"ﬂjﬂﬂl all th  contesti;
(2) Thepo*we;r of the opposition tn "‘# an
(3) The veto power of the Indian Preside

(4)  Governor’s power to reject a Bill
S (55 ©5 B vab) o3 008 & *"“
(1) o8 3% SEHOOB0R Mﬁ'&aﬂ o l.rbd: 885 5o
(2) S'Esys' ($5ghends 855808 B8sEe w85 do
(3) =88 Tis6 IS ©dsdo

(4) o8 Deodd B8S,LoB HSSE wds o

156. The statement “Supply creates its own demand” is given by
(1) Thomas Jefferson (2) James Madison

(3) David Ricardo (4) 1B.Say

"800 o Blrodod eT Sioiiotnod” B3 PELSH BWS0OIIIEH
(1) 58 BHHS (2) 35y 37855

(3) @28 os°g (4) 2o.%

5 7. JM. Keynes prppnunded_l.he theory of

(1) Liquidity Preference (2) Demand
(3) Supply (4) Distribution
8.5, 55) 5838008 Bodsn

(1) @sgedoed 2) asrods

(3) sss0 (4) Sobed
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} B Mﬂ}

A i’é’a Amangﬂmfaﬂnwlng,ldenhfylhe hr *}[ XeS.
o : ) Income Tax and Customs Duty B) Income Taxand Corporat Tax
€) Corporate Tax and Sales Tax: "'"?- Income Tax and Excise _",'f'
8BS WEYLF R’ @EgE éﬁaﬂ?&: 8O0,

A) soon 58y 0o By S s 1

€) =&0BE s SHocin B&se *m D) gm S5 55008 .‘:rg;,é’

(1) A&C r' (2) Bonly
(3) C&D C(4) Aonly
l
160. Match the following |
‘A) Rabi - 1) Paddy
B) Kharif i)  Watermelon
C) Zaid i) Sunshine
D) Natural Resource iv)  Wheat
BESS B!
A;) ﬁﬂ. I~
B) 263 i) Y5
€ @6 i) Sodgsos
D) ‘S&essdo V) Agod
(1)  A-iii, B-ii, C-iv, D-i (2)  A-ii, B-iv, C-i, D-iii
(3) A-i, B-iif, C-ii, D-jy (4).  Aciv, B-i, Ceif, D
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©) B i) e
D) e 5 W) e
(1) A-ii, Briv, C-iii, D-i ©(2) A-iv,B-ii, C-i, D-iil
(3) Aiii, B-iv, C-ii, D-i © (4) A, Biii, C-ii, D-iv

162. Assertion (A): Proximity to the markug is a criteria for the upemunns of multi na
corparations.
Reason(R):  Multi national corporations carry on thﬂirﬂparatmnﬂhr e
profits.
(1) (A)istruebut (R)is false
(2) (A)is false but (R) is true
(3) Both (A)and (R)are true and (R) is the correct explanation of (A)
(4) Both(A)and (R)are false
BEZES (A); ovoders Sju: T8 PlEcTe MWras® 5008 rhdgEts
(B TRgddTon. -'
Bdmo (R): wbwderd Joden oif oareds oot S350 mdow.
(1) (A)#358 52 (R) 5388 580
(2) (A)S2s8 55 52 (R) £pR6
(3) (A)$980%3 (R) © Bodx 3333 5:0080 (R) 38 (A) 85 538 D560
(4) (A) 808 (R) &2 Dok 335D £
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.q tunit o LD

(Ef) Both (A) and (R) are false

(2) Both (A)and (R) are truc and (R)isthe gorrect explanation of (A)
(3) (A)istrue but (R) is false |
(4) (A)isfalsebut (R)istrue
BO3as (A): s 68 05K I gz ness wEgoBsH ﬂrﬂﬁm
56mo (R): (858 =08 S0084Q 5 fﬁwﬂ, b5 B whsTod B0
(1) (A)Sbcsn (R)eo Dodr 2y =

(2) (A) 000 (R) oo Dodr SIS &a@p (R), (A) & 538 DG
(3) (A)#5256 Sooas (R) 85y

(4) (A) &Sy S08a50 (R)#338

164. Expand the abbreviation of ATM

(1) Automated Transaction Machine (@) Automated Teller Machine
(3) Automated Technical Machine ‘_. (4) Automated Tele Machine
Q.8.05 o 5o7)) DEBoHID

(1) e&5%88 Lrayss Bohd @) ets*HBs Bes HhS
(3) o&'HBE BHKS DhLS (4) s&'HBE 80 Bas

165. The wealth definition to Economics is given by

(1) Alfred Marshal (2) Lionel Robbins
(3) AdamSmith (4) PA.Samuelson
VETZ D0 JoBd AGGISS0H SIS
(1) SR8 88 (2) o@NIS DY
(3) edo S (4) ®.2. PSrgeye
166. The first Indian who won the Raman Magsaysay award.
(1) Jayaprakash Narayan (2) Vinobha Bhave
(3) ArvindKejrival (4) TN.Sheshan
o8 e VI8 Yoty SNEY FriBcings
(1) 20005% Sochns (2) dStererd
(3) ®8d08 SRS (4) 898 315
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vy / 1 uHr g
J" R o P
:.lfu'-j Lu‘._l.i'
I_‘_I..‘:. . -:I!l ‘:-_‘ -":-—'_. T" . e PER ek W E

T

|
i i€
2 R
) A ‘General
I " s i -.

.I"I._
1 Fl t 1
r &

.i-fﬁ:ﬁé' oo
i) @ed i'ﬂ’.‘vﬂﬁ
i) a8 Dol S0
@) A-iii; B-ivi C-il, D-i
}  A-iii; B, C-ii, D-iv

B) B8 Gopse

C) 5s 65658

D) 38> il

(1) A-m, B-u,C—i, D-iv
(3) A-iii; B-i, C-iv, D-ii

16& “Man ki Bath" programmﬂtmedun
(1) 20 0ct2014
(3) 26Jan2014

(2} 15 Aug 2014
(4) 3 0ct2014

(1) 20 e=6 2014 15 @iy 2014
. (3) 26w%56 2014 (@) 3§t 2014

 169. Match the following
&)  Vishwanatha Satvanarayana i)  Veyipadagalu

b)  SriSri ii) Vishwambara R
¢) Gurajada AppaRao iii) Maha Prastanam ‘
d) C.NarayanaReddy iv) Kanva Sulkam

28580 80;

a) RS SEzT oAb ) Sowsddres

b) &% i) digous

¢) ‘hdard ooty iii) DTS S0 -
d) %. grovcihe 3§ iv) Sorghe o

(1) aeiv, bei, c-if, d-iii (2) a-i, beiii, c-iv d-ii
(3) @i, biv, c-i, d-iii (4)  a-iii, b-ii, c-i, d-jv
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: 3hntnnﬁm¢ncan R’Eﬂlﬂﬂﬁ] ”K é‘ﬂ; Bhabha At,nmm RM&]} ﬂl' +,|.u.a
M | Bombay Atomic Research e re  (4) BharathAtomic Regional Centre
" BARC & 2880u0 b AR

(1) gorers w0ES 6uds 25088
(3) wrod sl 838 Wobb

{2) e esbodnb 8358) Eo )
ES wenb ba80 o

172 Match the following

a) Kamataka Harish Rawat

b) Kerala =% Sidda Ramaiah
¢) Tripura i) Viiayan

d) Utarakhand iv) Manik sarcar

=12 BT RINSNALE |

a) sgbs i) SR OIS

b) 3o¢ i) g oSaclog

c) 8% i) D=dHs

d) edopol iv) S::38 Soub
(1)  a-ii, b-iii, c-iv, d-i (2) a-ii, b-iv, c-iii, d-i
(3) a-iii, b-i, c-i, d-iv (4) a-iii, b-i, ¢-ii, d-iv

173. The first Radio programme in India started in the year
FOS3%0S” 388 4B (Broren (DEoTDS LoSETo

(1) 1920 (2) 1922 (3) 1923 (4) 1933

174. The person who discovered that the earth is spherical in shape
(1) Newton (2) Columbus (3) Ptolemy (4) Copernicus
Grih TS 8o S08D SHFDS S8 |
(1) Sorghe (2) Fwowb (3) red: (4) 5088
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mw f@i}

mﬁammazw .
1. " tFE;: Kort @) &%

ﬁ Thﬂﬁtﬂtmdmtﬂi‘mmawhngmel d unan mimously - f
(1) Neelam Sanjecva Reddy | ; BabuRajendraPrasad
(3) Dr AP Abdul Kalam (4) Pranab Mukharji
08 T EH6 BEIE DERSom D@ 3 mﬁﬂ 408
(1) doo Sodsog (2) ( we B BFE_
(3) AP Etgﬁjm l @) @of o

). The election ay:nhul of Samajwadi party &ll.ﬂhr Pradesh

‘(1) Elephant (2) Risingsun
(3) Clock (4) Cycle

SEHREFS' SErard F§ g, Yo Voo
(1) 258 (2) &donod St
(3) RBcs»do (4) &S '

|
<R - : - ST e
180. The second woman Prime Minister of Britain

(1) Margaret Thatcher (2) Margare: Elizabeth
(3) TheresaMay (4) Angela Markel
PES Bodd Sobrer [BEra oB
(1) S8r§o8 owd (2) Srges Jo=ps

- (3) @A > (4) Jozer 500 &
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182, Indicate the wrongly matched pair:

8)  Manof peace ~ Lal Bahadur Sastri

b)  Frontier Gandhi ﬁm Abdul Gaffar khan

€) Desert fox - ;: "f_‘:'-' ito Mussolim

d) Maid of Orleans ——  JoanofArc

SOy 2ESGS oan LGodod: v

8) 5 eb b5 —»iws &S T

b) R8s moed — S oS H#GE*S

¢) 3 ¥ ——— B2 50880

d) Wond wd wbaby —— &5 uh uf)

(1) b (2) d (3) ¢ (4) a

183. The Malayalam film that was awarded ‘The Best Children's Film® at Berlin International
Film Festival 201615

(1) ManuUncle (2) How old Are You? |
(3) My Dear Kutti Chetan (4) Oual ‘
2016 BYS RIS 6 THISS 4dS oo DFor JONES Soduird QS0
(1) DX wod (2) 3" 4§ 6l ocw?
(3) D Aol o DeS (4) Lys
184. The first woman climbed the Mount Everest in the world.
(1) Mrs. Bachendrapal (2) Louise Frechette
(3) Mrs, Junko Tabei (4) Maria Estela
B50508" InLTOSBIOT I0F IHTY EEC DS Soing ;
(1) 858 odopd>s ) oronb 38
(3) &8 =58 &3 (4) SBc> J§er
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187. The organisation thatwasparmf L¢3 e o ,3‘: ations is still cuntmumgmm ,'
(1) WHO ._ '.; _ ( (4) ILLOS

. The following country is known as *

(1) Belgium (2) Spain e ;3) ostria (4) France
TELE s% obrdR’m DevsSusdr) B . ;
(1) BoSo (2) yows (3) RS> 4) &2 / v
'1 189. Match the following
I a)  Archimedes i) Britain
) b) Alexander Graham Bell i1) Germany
I _ ; . |
' ¢) Nicolaus Copernicus iif) Greece K
d) Albert Einstein iv) USA »
v) Poland '
Bo8 TR 28J8D0:
| a) 0,88 1)  PLe
¢Boss [rirods i) 26,5
'S EH0ED i) (4%
sSE o3PS V) o8008,
V) DBes
a-iii, b-ii, c-iv, d-v (2) a-iii, b-i, c-v, d-ii
 a-iv, b-v. r;_-ii,'d-i (4) a-iv, b-1ii, c-v, d-ii
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o "J:_-;I._,“I ; Iﬂ}" aged m lic !ﬂﬁ:lf '. _ ‘ .-
Y - '“Cllfﬁhlnmnum ?) ascorbiCaCE (3)  asulphadrug  (4)

ﬂ] ﬁﬁ-"ﬂ i

191. Whmhdame:spﬁrfﬂnﬂﬂdb}"r“h“' 2roups living in Araku valley?

"'""I'_"""Tj g =

-I

(1) Dhimsa (2) Gussadi (3) Kuchipudi (4)
BEReS che® Avas Bhed l{)dﬁ;u:’:m&::' o 567
(1) goa (2) s k 3) s05r8 (4)
192. The famous Belum Caves are in? l
(1) Guntr (2) Kumool (3) YSR.Kadapa (4) Chittoor

Bord hires I doH?
|
(1) Hotars (2) #dmes {ga_) YSR.565  (4) 92858

193. The producer of the first talkie movie in Tﬁiﬁgu‘?

(1) K.V. Reddy (2) Satyajit Ray
(3) HM.Reddy '(4) Chittoor Nagayya
SNEE B rd DG Doye?

(1) K.V.3% (2) 852873

(3) S5 38 (4) Qéxs Tricdg

194. In Rampa Rebellion who helped Alluri Sita Rama Raju in his fight against the British?
(1) BobbiliDora (2) JampannaDora (3) MannuDora (4) Gantam Dora

OB 08 558850 FTES verd RO Joib BErENS® SHhEES
(1) SO TS (2] =00 &8  (3) Sy &6 (4) Hoko &¢

Ty

195. Sugarcane Research institute is located in Andhra Pradesh? ‘
(1) Kakinada (2) Vijayawada  (3) Anakapalli (4) Amudalavalasa
SoBBETS' Bk HEFE> Toko?

p (1) sé>d () dachard () eiesg (4) siuoodes:
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198.

199.

200.

( 4) Maschikhand

. h|l
'Hn@@ﬁfﬁ‘h 088 ze bﬁase'i'g |

(1) %‘il:;m J: (2) FrREIEE
(3) 8 g :_(4) SrSpob

The newspaper established by Raghup:
(.i} Brahma Prakasika (E} Swarajyam
(3) Viveka vardhini ' (4) Vandematharam
G058 BosbTdo Tainded Fhodwnds 568

(1) @iy B35 (2) Sgorzgo

(3) o3¢ 392 (4 Sodsreso

-

enk: taRamam Naidu was?

The first inscriptions which were found m&ndhra Pradesh?

(I) Rakasi Gullu (2) Nasik

(3) Asoka’s (4) Hathi Gumpha
sore* ©odS &9 TITE JD?

(1) o5s foey (2) a&F

(3) ®550d () FBKs0d

In 1862 the First Raﬂwayﬁinu that was constructed in Andhra?

(1) Bombay to Tanuku (2) Kondapalli to Korukonda

(3) Kotipalli-Kakinada (4) Putturuto Renigunta

Hﬂ@'ﬁ" 1862 &* Schress BodS 085 5 FHN?

(1) Somron - Sm080 (2) Bodse - sgmros

(39 §'358 . piad ﬂ"“) @@.ﬁ? Be3oods
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